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1,917.07 1,123.02 0.00 3,040.09
iﬁ'ﬁ:t
2. BET—H
g PRI R B E EEFRAOBE —BIERFREE
1547 251F 1547 25 154F 254F 154F 2514F
t t °C °C °C °C ppm ppm
123t =800°C FHL1200°CLT =100ppm
1 114.93 923 170 4
2 112.48 912 170 4
3 114.67 904 170 4
4 113.18 902 170 4
5 114.98 910 170 4
6 112.06 906 170 4
7 111.80 906 170 4
8 110.05 902 170 4
9 114.91 904 170 4
10 112.01 913 170 4
11 113.33 905 170 4
12 115.02 900 170 4
13 117.28 896 170 4
14 117.04 906 170 3
15 114.94 915 170 3
16 117.74 910 170 4
17 112.54 117.64 913 162 3
18 109.58 115.10 925 911 160 160 4 3
19 117.06 74.39 917 162 4
20 115.88 917 170 4
21 115.47 923 170 3
22 114.89 927 170 3
23 117.53 919 170 3
24 114.28 924 170 3
25 109.42 921 170 3
26 110.95 908 170 3
27 112.01 916 170 3
28 112.01 928 170 3
29 106.96 931 170 3
30 105.03 916 170 3
31 109.91 907 170 3
=X 1683.52 2133.55
2R A E 3817.07
iy 112.21 114.40 920 908 169 169 3 4




